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BGGCT-131 : PHYSICAL GEOGRAPHY

Time : 3 Hours  Maximum Marks : 100

Note : All questions are compulsory. Marks are

mentioned against each questions.

Answer questions 1 to 5 in 500 words each.

1. What is dualistic concept ? Critically discuss the

Tidal hypothesis of James Jeans and Jeffrey. 10

Or

What is biome ? Discuss in detail the major types

of biomes of the world.

2. What is isostasy ? Explain in detail Airy’s theory

on isostasy with suitable diagram.

Or

What is earth’s crust ? Discuss in detail the concept

of continental and oceanic crust.

3. Expain in detail the geosynclinal orogen theory of

Kober with suitable diagram. 10

Or

What is the concept of cycle of erosion ? Discuss

the Davis model of cycle of erosion with diagram.

4. Explain the vertical structure of atmosphere with

diagram.

Or

Write a detailed account on the heat budget of

atmosphere and earth.

5. What is crysophere ? Discuss in detail. 10

Or

What is ocean current ? Explain any four factors

affecting ocean currents.

6. Answer any five of the following questions in 250

words each : 5 × 6 = 30

(a) What is galaxy ? Discuss four major types of

galaxies as classified by astronomer Edwin

Hubble.

(b) Define ecosystem and discuss its components.

(c) Differentiate between eustatic change and

isostatic change in sea level.
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(d) Briefly explain the mechanism of continental

drift as postulated by Holmes.

(e) Differentiate between trade winds and

westerly winds.

(f) Differentiate between continental shelf and

continental slope.

(g) What is salinity ? Briefly discuss salinity of

oceans.

7. Write short notes any five of the following in 150

words each : 5 × 4 = 20

(a) Asteroids and Planeteroids.

(b) Rock cycle.

(c) Frost action or ice wedging

(d) Epeirogenic movements

(e) Coriolis force

(f) Hydrological cycle.

(g) Stationary wave theory.
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ch-th-th-lh-Vh--131 : HkkSfrd Hkwxksy

le; : 3 ?k.Vs vf/kdre vad : 100

uksV % lHkh iz'u vfuok;Z g®A izR;sd iz'u ds lkeus vad fn,

x, g®A

iz'u 1 ls iz'u 5 rd ds mÙkj yxHkx 500 'kCnksa esa nhft,A

1. }Sroknh ladYiuk D;k gS \ tsEl thUl vkSj tSQjh dh

Tokjh; ifjdYiuk dk vkykspukRed ppkZ dhft,A 10

vFkok

thokse D;k gS \ fo'o ds izeq[k izdkj ds thokse ds ckjs esa

foLrkj ls ppkZ dhft,A

2. lefLFkfrdh D;k g® \ mi;qDr vkjs[k ds lkFk ,;jh ds

fl¼kUr dks foLrkj ls le>kb,A 10
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vFkok

HkwiiZVh D;k gS\ egk}hih; vkSj egklkxjh; iiZVh dh

vo/kkj.kk ij foLrkj ls ppkZ dhft,A

3. mi;qDr vkjs[k ds lkFk dkscj ds Hkw&vfHkufrd ioZrksRifÙk

fl¼kUr dk foLrkj ls O;k[;k dhft,A 10

vFkok

vijnu pØ dh vo/kkj.kk D;k gS \ fp= ds lkFk vijnu

pØ ds Msfol ds ekWMy dh ppkZ dhft,A

4. ok;qe.My dh mG/okZ/kj lajpuk dks fp= }kjk le>kb,A 10

vFkok

ok;qe.My vkSj i`Foh ds mG"ek ctV ij foLr`r fooj.k

fyf[k,A

5. fgee.My D;k gS \ foLrkj ls ppkZ dhft,A 10

vFkok

egklkxjh; /kkjk D;k gS\ egklkxjh; /kkjkvksa dks izHkkfor

djus okys fdUgha pkj dkjdksa dh O;k[;k dhft,A

6. fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj yxHkx 250

'kCnksa esa nhft,A 5 × 6 = 30

(d) eankfduh D;k gS\ [kxksy foKkuh ,Mfou gqcy }kjk

oxhZo`Gr pkj izeq[k eankfdfu;ksa ij ppkZ dhft,A

[ 5 ]

([k) ikfjfLFkfrdh ra= dks ifjHkkf"kr dhft, vkSj blds

?kVdksa dh ppkZ dhft,A

(x) leqnz ry esa lqfLFkfrd vkSj lefLFkfrd ifjorZu ds

chp varj dhft,A

(?k) gksEl }kjk izfrikfnr egk}hih; foLFkkiu dh fØ;k

fof/k dks la{ksi esa le>kb,A

(³) O;kikfjd iouksa vkSj iNqvk iouksa esa varj dhft,A

(p) yo.krk D;k gS \ egklkxjksa dh yo.krk ij la{ksi esa

ppkZ dhft,A

7. fuEufyf[kr esa ;s fdUgha ik¡p iz'uksa ds mÙkj yxHkx 150

'kCnksa esa nhft,A 5 × 4 = 20

(d) {kqnzxzg vkSj xzfgdk,¡A

([k) 'kSy pØ

(x) rq"kkj fØ;k vFkok fge&QUuh

(?k) egkns'k tfur lapyu

(³) typØ

(p) LFkSfrd rjax fl¼kUr

***

[ 6 ]


